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gAenfrat & fod v : Instructions for the candidates :

]. GAHTdT OMR 3I97 YAF UY AYAT 1. Candidates must enter his / her
vy Yfeasr FaiE (10 HF FI) Question Booklet Serial No.
Havy ferdd 1 ' (10 Digits) in the OMR Answer

3 1 Sheet.

2 QUHR  FerEYE 39 Wi‘f # ?»'? 2.  Candidates are required to give the:r

I/ answers in their own words as far

as practicable.

3. A 3R e Wﬁ'ﬂ'f{"m 2'7773’_ J. Figures in the nght hand margmn

At #d 81 indicate full marks.
4. gl @ g Eﬁf"ﬁ 7@'7;' EP}’_ fqe 4. 15 minutes of extra time have been
15 e &1 Jifafis &7 [ 131 & allotted for the candidates to read )

the questions carefully.

5 3% F¥997 71 Gugl H 8 — @UF-I UG 5. This question booklet is divided into

qUs-7/ two sections — Section-A and
Section-B.
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Gug-37 A 100 aejfae wwT &, fad o
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sfvard &1 varg § fE gvH F
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1 IF e &1 98t 3T F 3o
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et faweq &1 At / 13 T 97 G
g F fEE W mERw &
@AY / avT ward [/ & / AgT
T FT OMR I7-Yfvar & waim
Fear wAar &, ar=ur gdtar uRvimw
3T FI ‘

WUF-g § 30 7Y I 97 &, H
@ =t 15 gvat &1 3oV a7 Afard
#1 g% gv7 & o0 2 @ fAuifia &1
7% HARE, 39 GV H 8 3" Iwvig
v 73 13 & fd @ et 4 v
T g7 a1 &1 99F 5T & fow
5 3% fifta &1

frat TFR & gorRiAe IJTET F 8.

i quiear aford &

In Section-A, there are 100 objective
type questions, out of which any
50 questions are to be answered.
First 50 answers will be evaluated in
case more than 50 questions are
answered. Each question carres
1 mark. Darken the circle with
blue / black ball pen against the
correct option on OMR Answer sheet
provided to you. Do not use
whitener / liguid / blade / nall
etc. on OMR-sheet, otherwise the
result will be invalid.

In Section-B, there are 30 short
answer type questions, ou! of
which any 15 questions are to be
answered. Each question cames
2 marks. Apart from these, there are
8 long answer type questions. ou:
of which any 4 questions are to be
answered. Each question
5 marks.

carmes

Use of any electronic appliances s
strictly prohtbited.
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WUT - A / SECTION - A

'ﬂ'ﬁm.m / Objective Type Questions

W¥T WEAT 1/ 1007F & W¥T & @y aw fwew Ry o § frd @ v @t ) Rt

507¥l & 3T 39 gNT G Y W Rrew w1 oMR ¥z av RfRAT W I
50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50 x1=350
1
1. —=2UH
| V2
(A)  WThd G (B) URwg dw
¢y 9T e D) T FE T
1 .
— isa
v2
(A) Natural number _ (B) Rational number
. (C) Irrational number (D)  none of these

2. U o aur p UK T pix) = x2 +2x + 3 F [IF &, A of F FH FW
@3 | B -2
c 2 | D) -3
If « and B are the zeros of a quadratic polynomial p(x)= x? +2x+ 3, then the

value of ap will be

A) 3 B) -2
< . 2 D) -3
(L-2)110A 60010-A Page 3 of 44
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3. TEUR 4x? +542x-3 %Wﬂ?-ﬁt?

Ay -3/2,¥2 (B) —3\/5,-2‘@
_3‘[5 ﬁ “ o e
o =222 (D) T ¥ &3 @

What are the zeros of the polynomial 4x?2+52x-37?

A)  -3J2,42 B - 3./5,{‘1
(C) %‘J—i.—? (D)  None of these

4. IR I T F EEA 15870 ¥ TF IAH] HoHo 23 &, Al IAHT SoTo AT

(A) 690 4Bl 609
(C) 669 (D) 906

If the product of two numbers is 15870 and their HCF is 23, then their LM

will be
(A) 690 (B) 609
(C) 669 (D) 906

5. uﬁa=(22x33x54]ﬁf b=(23x32x5].ﬁaq°ﬂ°(a,blm

(A) 90 (B) 180
(C) 360 (D) 540

If a=(22x3%x5%) and b=(2°x3°x5), then HCF (a, b) is

(a) 90 (B) 180
() 360 | D) 540
(L-2)110A [60010-A Page 4 of 44
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6. Pty sagralit
(A) %X*'l (B) 2-x? 2+ 3x
_(,OT % E_ 1 [D] IJ
In the following which is not a polynomial ?
(A %x +1 (B) 2-x?+J3x
(C] I x 1_ 1 ‘D) IJ
7. mwx+2y_3-om2x+4y.16 FTX
(A) R By I &
© w1 ¥ € D) ¥ | ® T
The system of equations x + 2y -8 = 0 and 2x + 4y = 16 have
(A) unique solution (B) infinitely many solutions
(C) no solution (D) none of these
g ofe fwad from ageg & y® & ATER 4 TF [TTRA B EE & il Tl
(A) x%edx+4 {B) xP-dxel
(C) x*-xe4 D) xPrdxel
If the sum of the zeros of a quadratic polynomial is + and their product is 1,
then that quadratic polynomial is
(A} x?vax+4 (B) x*—-4x+l
(C) x3-x+4 (D) xdraxel
(L-2)1 10A 60010-A Page 5 of 44
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9. A THH P axs ky+8=0 TH 20+ 2y+2=0 FT TH Acld & &, A

A) k=4 “B) k=4

C) k=-4 D) I § HE T

If the system of equations 4x+ ky+8=0 and 2x+2y+2=0 have an unique

solution, then
(A} k=4 (B) k=4

(C) k+-4 (D) None of these

10. fr=fafga 0 w9 Fam sdmor 2

(A)  x?-3Jx+2=0 (B)  x+d=x?
X
. : 1 - y
(€) x*+—==5 Dy 2x? -Sx=(x-1)°
U o .

Which of the following 1s a quadratic equation ?

(A)  x?-3Jx+2=0 (B)  x+L=x2
X
1 .
(C) x2+-x—2=5 D) 2x? -5x=(x -1)?

11, 3R FHH ax? +bx+c=0 & G TF T & Jowy &, at

(A) a=b B) b=c
J$ef ec=a (D) ¥ ¥ #1§ 7
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If the roots of the equation ax? + bx+c=0 are reciprocal of each other, then
(A) a-é (B) b=c
(C) c=a (D) Nonc of these
12.  fqua @it x2 Z6x42-0 & el & AT
(A 2 B) -2
€ 6 D) -6
The sum of the roots of quadratic equation x? —6x+2=0 is
(a) 2 (B) -2
) 6 ' D) -6
18.  x=6F AcTE FH WA T@r gt ?

(A) AT & GHIW L AB] - HE & gHiE
€ o fag q vt g8 (D) 39 ¥ ST =&l

What type of straight line will the graph of x = 6 be ?
(A) Parallel to x-axis (B) Parallel to y-axis

(C) Passing through the origin (D) None of these

14. f=fcfEd 4 @ ®9-@ Fame 3w | & o fag g 2

AAT (2,0) B) (0,2)
) (2,2) (D) 3 ° %13 ¢
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Which of the following are the co-ordinates of a point on x-axis ?
(A (2,0) B (0,2)
€ (2,2) (D)  None of these

15, af% fwlt A p. 1 WoH W o U T S 4 @, A 39 AP.F AT EM
(A)  a+(n-2)d JABY a+(n-1)d

(C) a+nd (D) a-(n-1)d

If a is the first term and d is the common difference of an A.P., then nt term of

the A.P. will be
(A) a+(n-2)d B) a+(n-1)d
(C) a+nd (D) a-(n-1)d

16. HHIAX it 10,7, 4, ... F 30 YT &

(A) 75 4B] - 77
(C) S5 D) 67

30t term of the A.P. 10, 7, 4, ... is

() 75 , B -77
(C) 55 D) 67

17. HHIR AUt 7, 13, 19, ..., 205 5 GG H T fFa ¥ 9
A) 33 AB) 34
(c) 43 (D) 44

How many number of terms are there in AP.7,13,19, .... 205 ?

(A 33 (B 34
() 43 - (D) 44
(L-2)110A | 60010-A Page 8 of 44
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18. WA A 3,5,7,9, 11, ... % ndl 45 0

W 2n + 1

(C) 2n+ 2

The n' term of the A.P. 3, 5,7,9, 11, ...

(A) 2n+ 1

(C) 2n+ 2

19. fag(4,-3)Higmfagagie

(A) 25 -

(C) 10

Distance of point ( 4, - 3 ) from origin is

(A) 25

(C) 10

20. sin265°+sin225° &1 O &M

The value of sin? 65° + sin? 25°
(A) ]

e -1

is

B)  2n-1
(D) 39 | FT3 AR
will be
(B) 2n -1
(D) none of these

B 5
(D) 15
B) 5
(D) 15
(B) O
(D) 39 W I3 Fa
B) 0

(D)

none of these

 (L-2)110A [60010-A
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21. ﬁﬁaﬁis.oltﬁ'(-5,4)3#&?{1%‘6!%1”3@‘53?%%7{*%%

) (1,2) B) (-1,2)

The co-ordinates of the mid-point of the line segment joining the points ( 3, 0 )

and ( -5, 4 ) are

A (1,2) B) (-1,2)

€ (0,2) (D) (1,-2)
22. g (3,5)Fy= e

(A) 3 B -3

(& = (D) =5

The abscissa of the point (-3, 5 ) is

(A) 3 (B) -3

(C) S (D) -5
23, fgda aquiw # fag & Frams &
A (2.3) B)  (-2,3)

€  (-2,-3) D)  (2,-3)

The co-ordinates of a point in 2 quadrant are

(A (2,3) B) (-2,3)
© (-2,-3) (D) (2,-3)
([_,-2)1 10A | 60010-A Page 10 of 44
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24, firddt B & ot & Prames (-3,0), (5,2 ) AN (-8,5) % A ITF FTF F

s i
@ (21) B (-21)
€ (2,-1) (D) (-2,-1)

If the coordinates of the vertices of a triangle are (-3, 0),(5,-2)and (-8, 5)

then the coordinates of the centroid of the triangle will be
(A} (2,1) (B) (-2,1)
€ (2,-1) D)y (-2,-1)

25. S ABC ©F wowior Bnget & fred 20 = 9008, @ cos (A + B) FEH &

JAT 0 B 1
1 V3
<€ 3 Dy 5
Triangle ABC is a right angled triangle in which #C = 90°, then the value of
cos(A+ B)is
(A) O (B) 1
1 3
€ 3 D)

26. 28 cm =Y T g9 Ht R FT T 2

(A) 44cm (Br  88cm
_(C) 78cm (D) FH 9 &Y Tl
What is the circumference of the circle whose diameter is 28 cm ?
(A) 44 cm (B) 88cm
(C) 78cm (D)  None of these
b -_(L-2)110A> 60010-A Page 11 of 44
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27. I & 99 Fd Ay weeAdt &

Ay o gy =
(C) TGl D) ¥ G FE T
The longest chord of a circle is called
(A} Radius (B)  Diameter
(C)  Tangent (D)  none of these
28. tanOxcot® & HH &
A) 0 B 1
< 2 (D) -1
The value of tanOxcot9 is
(A) 0 (B) 1
© 2 D) -1
tan35° cot78° TR
29. cot55° * tanl12° %
(A) O (B) 1
© 2 (D) 3AH ° &I Ta&
tan35° cot78° .
cot55° tanl?2°® i3 equal to
(A) O (B) 1
C) 2 (D)  none of these
(L-2] 110A 60010-A Page 12 of 44
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30. 3% sin0=%,?ﬁicnsﬂ %1 °19 &I

2 2
(A) 2b = {}?) __b_?;_a_
b* -a
—2 b
(C) = (D) °
If sin®B :%, then the value of cos 8 is
b b2 _ a.?
M BT
(C) 2 (D) b
;bQ —a? ) a
31. qﬁ' sin8=-%,ﬂ\TcotG@"'|T
" = ® V3
o & o
If sin8=-%, then cot 8 1s
L B V3
A ——
(A) 7
(C) -Jzi (D) 1
30, TRt J3tan20=3, A 0 H HA &M
(A) 15° By 30°
(C) 45° (D) 60°
(L-2)110A | 60010-A Page 13 of 44

https://www.bsebstudy.com



If V3tan20=3, then the value of 0 will be

(A) 15" B 30°

(C) 45° Dy 60°
33,  scc(90°-0)=

(A) tan 0 _ }B{ | cosec 6

Q) sin 0 _ (D) cos B

34. RFF=naw ga 9 o0 & BFwms & eawe @im

2% RO R0

(A) 180 B g0
pl

2z R0 nR30

©  Fg0 D) 360

The areca of a scctor of an angle 0 in the circle with radius Ris

]

2aR0 3 nR<0

Al T80 T
b

2n RO tR<0

(C) 360 ’Lm 360

35, @ gl & A%l & S 9 4 &, Ikl Al w1 SwEE &

A~ 3:2 B) 4:9
C 2:3 (D) 81:16

The areas of two circles are in the ratio 9 : 4. The ratio of their circumferences is

(A) 3:2 B 4:9
(C) 2:3 (1 81 lo
(L-2)1 10A | 60010-A Page 14 of 44
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36. v A andel w Wqvl o= @ Fwet g

M 3nr? B)  4nr?

(C)  2nr2 (D) FH G F1E Tl
The total surface area of a hemisphere of radius ris

(A} 3nr? (B)  4nr?

(C) 2nr? (D) none of these

37. fordlt @e #1 our & B 2 em &, UTE H9E 14 om £, A1 39 49T & TS

'\

e

/w/ 176 cm 3 (B) 196 cm?
r

(C) 276 cm*® (D) 352 cm?

If the radius of the base of a cylinder is 2 cm and its height is 14 c¢m. then

volume of the cvlinder will be
(A) 176 cm” B) 196 cm?
(C}) 276 cm> (D) 352 cm*

38 gfe fedl Tist &1 #0719 14 cm &, A1 3T 3T &1

(A) 1428 cm’ | (B) 4312 cm?
o em® o) T A
(L-2)110A | 60010-A Page 15 of 44
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The diameter of a sphere is 14 cm, then its volume is
(A} 1428 cm*® B) 4312cm’

(€) A2 (D)  None of these

30, fod viF & MR F B 5 om & @ IFF FAE 12 om &, A ITEH TH TSI

8TFS &
(A) 60 mcm? /LB}-"/ 65 rcm?
(C) 30 xcm’ D) ¥/ FE G

If the radius of the base of a cone is 5 cm and its height is 12 cm, then 1

curved surface area 18
(A) 60 ncm? (B) 65 rcm?

(C) 30 =« cm? (D) none of these

40. afz Tl T F1 0% YA 5 cm ¥, A THH GPI IS T ATESA FW

~

(A 150 cm? (B) 125 cm?
€ 100 cm® O [ HE

If one side of a cube is 5 cm, then its total surface area is

(A) 150 cm? (B) © 125 cm?

2

(C) 100 cm (D)  none of these

(L-2)110A [ 60010-A Page 16 of 44
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41, WUH 20 fauq Wi d@enst w1 g R
(A) 100 (B) 210
V(Q/ 400 (D) 420
The sum of first 20 odd natural numbers is
(A) 100 (B) 210
() 400 D) 420
42. 2,5,7,3,3,6,3,8,6, 3 9geieh R & ?
(a) 6 ® 3
c 2 (D) 8
What is the mode of 2, 5,7,3,3,6,3,8,6,3°?
(A) 6 (B) 3
(C) 2 (D) 8
43, a 3R b F GEK WA &
| +b
@ 2 B 5
o a=b D) & W HIE Tl
(C) >
The arithmetic mean of a and bis
+b
ab B) “H5—
VI >
a-b (D) none of these
(C) 5
7 of 44
(L-2)110A: | 60010-A Page 17 o
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44, ot aiEREr aroft & a3 agers HE: 08 3 16 &, 99 TifegeT &t

(A) 22 . (B) 235
(C) 24 (D) 245

The mean and mode of a frequency distribution are 28 and 16 respectively, then

the median is
(A) 22 (B) 235

(C) 24 | (D) 245

45. 2,7,4,9,5,6, | I HigE &

(A) 6 B) S

C 4 (D) ¥H W FIE T

Median of 2,7,4,9, 5,6, 11s

(A) 6 By S
(C) 4 (D) none of these
46 fAefafEd @ 9 SH-6 &3 UF 92491 6 Wigehdr 781 & qFa ¢ 2
W 1S (B) %
(C)  25% D) 03

Which of the following numbers cannot be the probability of an event ?

. ' 3
a1 ® 3
©  25% @) 03
(L-2)110A [60010-A Page 18 of 44 -
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fofeaa g Y wiftmsar 2t &

47.
AA] 1 | B) O
{'cy. % D) 15
The probability of sure event is
@4 1 | B O
© 3 O 15
48. TF 3 Mt H e BT 9 em ¥ et us 319 do F9@n T e T
9 cm %, a 3((*1-1 EBET ff'nﬂlé ﬂ:lTﬁ
(A) 12 cm (B) 18 cm
(C) 36 cm (D) 96 cm
A metallic solid sphere of radius 9 cm is melted to form a solid cyvlinder of
radius 9 cm, then the height of the cylinder is
(A) 12cm (B) 18 cm
(C) 36cm (D) 96cm
49 fadt S WY & HOE U4 IWH FHA W ST H g W & A GE F
AT HI0T B
(A) ©O° (B) 30°
(C) 45° (D) 60°
(L—2)'1 10A 60010-A Page 19 of 44
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i on the ground,
If the height of a vertical pole is equal to the length of its shadow Br

then the angle of elevation of the sun is

(A) 0 B) 30°
(€)  45° (D) 60°

50. AT q 3R b Ty WEAT &, A q A b F FoTo ¥
(A) a (B) b
(C) 1 (D) ab
If a and b are prime numbers, then HCF of a and b is
(A) a (B) b

(C) 1 | (D) ab

51. TR q 3 WIS b & 610 a = bg+ rH WSEE r & o0 FH-T1 TEY T 7 2

(A) O0<r<b (B) O<rsb
(C) Osr<b (D) r>b

For dividend a and divisor b in a = bg + r which relation is true of remainder r -
(A) Osr<b (B) O<rs<b

(C] 0<sr<b (D] r>b

52,  fgamd WHIHT 2x% - 6x+7=0 & Hell &l WHid 2y

(A)  AEfaE AR SEEE (B) arafa® 3R TR
(C) FErda® D) ¥ ? =
(L-2)110A | 60010-A Page 20 of 44
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The nature of roots of quadratic equation 2x%2-6x+7=0 is

{A) real and unequal (B) real and equal

{C)  notreal (D)  none of these

53. 3§ 30 = 90°, A cos 0 F T Fpr

a 1 1
(B) 3
e B o
2 (D) 7
If 36 = 90°, then value of cos 0 is
(A) 1 1
® 3
(C) -‘/QE D) =
J2
54. 4R cos(a+P)=0, TF sin(a—p) B
(A) sin o (B) cos f3
(C) . sin 2a (D) cos 23
If cos(a+pB)=0, then sin(a-p) is
(A) sina - (B)  cosp
(C) sin 2a (D) cos 2P
55, WHET x+y= 143K x-y-4FEAE
(A) x=2,y=4 B) x=9,y=5
€ x=-2,y=-4 D)  x=6,y=-5
(L-2)110A [ 60010-A Page 21 of 44
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Solutions of equations x+ Y = 14 and x- y = 4 are

(A) x=2,y=4 _ B) x=9,y=5
(C) x=-2,y=-4 (D) x=6,y=-3
- ue AB-_B-Q Ha’
56. HTET AABC U4 ADEF H 1 2 =D

(A) /B=s/ E (B) SA=-D

(C) JlB=.D D] JA=SF

In similar AABC and ADEF 1t 1s given that %% = % then
(A) .B=.E By ,A=sD
(C) LRB=. D (D) FA=s F

57 h‘iﬂ ABC © ODE|| B 3R TET AR % AD = 24 cm, AE = 32 cm 3

EC=48cm, 4 AR FIT
(A) 36 cm (B) 6 cm
(C) 64 cm (D) 7-2cm

In AABC. DE| | BC such that AD = 24 cm, AE = 32 cm and EC = 4:8 cm. Then

AB1s
(A) 36 cm (B) 6 cm
(C) 6-4 cm (D) 7-2 cm

sg fad 9o E & UicA @1 F WA p(E) A, A P F w9 wd 7 2

(A)  P(E)<O (B)  P(E)>1
C) -1sPE)s] \/(.Eﬂ/ 0<PE)<]
(szl 1 10A [60010—A Page 22 of 344
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If the probability of occurrence of an event E is P (E ), then which of the

following is correct ?
(A)  P(E)<O (B) P(E)>1

(C) -15P(E)<] (D) OsP(E)s]
59.  sin60°cos30°+cos60°sin30° T A &M

(A) 1 - B) O
cy 2 ' Do -1
The value of sin60°cos30° +cos60°sin30° is

(A) 1 B O

c) 2 _ (D) -1

60. fag P(5.6)F x@ Al ¢
A) 53FT (B) 6T

) 2T (D) 13

Distance of point P(5,6) from x-axis is
(A) 5 units (B) 6 units

(C) 2 units (D) 1 unt

61 WA 324636363 ¥

]

(A) T qE @) uftim wEm
() e GE D) ¥ | I3 T
(L-2)110A [ 60010-A | Page 23 of 44
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The number 3:24636363 is

(A) a natural number (B)  arational number

(C)  anirrational number (D) none of these

62. Ifefigd & w5 fm @1 oo wER W@ @ 2

17

A Al 77

(A) 105 (B) 310
15 3

(C) 88 D) 1o

Which of the following fractions is expressible as a terminating decimal ?

17 a7
(A) 105 \ (B) 510
15
) == 3
88 (D) 160

63. W& 144 T 372 F JoWo N

(A) 60 B) 24
€ 12 (D)  FH ¥ I &
The HCF of the numbers 144 and 372 is

(A) 60 (B) 24

(c) 12 (D) none of these

64. g o, B, Y gUR ax3+bx2+cx+daﬁ“?l?1$ﬁ'a} aB+ By + oy =

b
W g ® 2
-b . -
© @ o
-—_-_-_-_-——'_'—_P_’-_
(L-Q)IIOA |60010-A Page 24 of 44
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Ifa, B, y are the zeroes of the polynomial ax> + bx? +cx+d, then ap+fy+ay=

w 2 (B)

Qo

(€ '—f (D) —'a—d
65. IR WU 2x2+ x+k FTH [TF 38 A k BT T &
(A) 21 B) -21
(C) 20 (D)  ¥H ¥ HE F
If 3 is a zero of the polynomial 2x? + x+k then value of k is

(A) 21 (B) -21

(C) 20 (D) none of these

66. AR TEIE p(x)=4x>-5x2+3x+7 & YD o, 3 v &, a o py F 5 &7

@ - ® 2

SN

(D) -

NI

b (©)

NN

If o, § and y are the zeroes of the polynomial p{xi:é}x“— 5,1")1»31'1-7, then

value of a By 18

%
W -7 B 2
© I o -3
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i ?
67. Hd'aﬂu[ hm 2x+3y=7' 6x+5y=ll *W B m /

(A) A & @) F e T
© fyd &= o) ¥ A HE
| =11 has how many solutions -
The system of equations 2x+3y=7 and 6x+35y=
(A)  Infinite solutions (B) No solution
(C) A unique solution (D)  None of these
68. R e writwrol &1 g oA ¢, A I A M
(A)  EHRR @ B) wiawd @iy
(C) Hurdl {@rd (D) ¥ | HiIg 7@t
If a pair of linear equations is inconsistent, then their graphs will be
(A) parallel lines (B) intersecting lines
(C)}  coincident lines (D)  none of these

69. @F THIFHI I x- 2y = 0 Td 3x + 4y = 20 T & &

(A x=4,y=2 B) x=2 y=4

© x=ly=2 D) ¥ J =

The solution of pair of linear equations x - 2y =0 and 3x + 4y =20 is.

(A) x=4,y=2 (B) x=2, y=gq

(C) x=1ly=2 (D)  none of these
(L-2)110A [ 60010-A Page 26 of 44
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70. 3§ 65T 117 F1 HoWo 65 m— 117 H @1 ¥, & m & O &

Ay 1 (B) 2

© 3 (D) 4

If HCF of 65 and 117 is in the form of 65 m - 117 then the value of m is
A 1 (B) 2

< 3 D) 4

71 AR TG FREOT 242 s axv6-0 FUH g 2 F A 0= 2
a7 B) -7
7
< 5 (D) -%

If one root of the quadratic equation 2x2 +ax+6=0 is 2 then a = ?

(A 7 B -7

(SIEN|

© Z O -

72.  af& HFOT x2 +2(k + 2)x+9k =0 & A AAidH AR TR &, q k F A= &0

A) 17 4 B) -1 4

(Cc 13 -4 (D) -13 -4

If the equation x? +2(k + 2)x+9k =0 has real and equal roots, then the value of

k will be

(A) 1 or 4 B) -1lor4

© lor-4 D) -lor-4
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73, FHERV x2 - 2x41-=1 éﬂﬁhﬁlf?!ﬁaﬁﬁﬂ@qgﬁ ?

A 1,-1 B) V2,1

€ 0,1 (D) 0,2

Which of the following are the roots of the equation x%-2x+1=17?
A)  1,-1 (B J2,1

(C) 0,1 (D) 0,2

74. x2+px+q=oﬁqﬂaﬁﬁﬁ$%qqmmﬁﬂ%hﬁﬁﬁﬁ?m ?

2
A) O B) %—
© £ | o) =P

Which of the following is the value of g to make x2+ px+g=0 a perfect square >

2

(A 0 ® E-

© % o) £
75. WO A 18,2124, 27, . F -3 §

(A) 08 B 03

(c) 02 (D)  FH q I T

The common difference of the A.P. 1:8,2:1, 2:4, 2.7, .. is

(A) 08 - B) 03

¢ 02 (D) none of these
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76. A 2x+ 3, Sx+ 1, 6x+ 3 THIAR 9 § & @l x & T &M
(A) 2 (B) 1
c 3 (D) FH | FIE Tl

If2x+ 3,5x+ 1, 6x+ 3 are in A P. then the value of x is
A 2 B 1

() 3 (D) none of these

77. WHIR A 117, 104,91,78, .. FI8ai T 2

-
(A) 25 /8( 26
(C) 24 - (D) FH | S &l
8t term of the A.P. 117, 104, 91, 78, ... is
(A) 25 (B) 26
(€ 24 (D)  none of these
78.  afe fRdt THIER N H S UT (2n+ 1) €, A TG TUY &9 g FT a7 @
(A) 15 | | B 12
() 21 (D) ¥H | HIE
If nth term of an A.P. is ( 2n + 1), then the sum of its first three terms is
(A) 15 (B) 12
(C) 21 (D) none of these
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i mg fa=
79. 21?"3&'%31’?/4(-»6,51113?Bl"ﬁ-“ﬁ&ﬂﬁE"Fﬁa‘r@ﬁﬁ;$r "

P(%A) g, @ q 1 \H

(A) -8 B) 3

) -4 (D) 4

If P('%.“J is the mid-point of the line segment joining the points A (-6, 5) and

B (-2, 3), then the value of a is

(A) -8 B) 3

© -4 ) 4

afc A(-1,4), B(5,2)Td C(-4,-15)%€rmsc¢vﬂé§,?ﬁw&r~:?

80.
gm
(A)  (0,-3) B) (0,3)
© (3,0) (D) ¥ @ H3 TE
IfA(-1,4), B(5, 2)and C(-4,-15) are the vertices of a AABC, then its
centroid is
(A} (0.-3) B (0,3)
| (C) (3,0) (D)  none of these
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8l. m . ,
F'““ia""f*re.-mmms_numﬁmrwmmﬁmma

(A} 2:3
{B) 3. 5

(C) 1:2 (D) 799 8 1 T4

In what ratio does the x-axis divide the line segment Jjoiming the points A (2, - 3)
and B(S5 ,6) internally ? | |

{A) 2:3 (B) 3:5

(& 1:2 (D)  none of these

82. g ' 5 Tni
ﬁqucnhmm,sc$mwm#&s.qp=x,Ps-4cm.

AQ= 14 cm, QC=7 cm, al x FI 417 F

(A) 8cm (B) 2cm

© 3cm’ (D) 9 | @I &

In triangle ABC, line segment PQ is parallel to BC such that AP = x, PB= 4 cm
AQ= 14 cm, QC = 7 cm, then the value of x is

(A) 8cm B) 2cm
(C) 4cm (D)  none of these
83. . & WHEY Ol & A% & WA 25 ; 49 § A I WA WAwR T 3
g
(A} 7:5 B 5:7
(C) 49:25 (D) ¥M W w
Page 31 of 44 ) -
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5 : 49, Then the ratio of their

The areas of two similar triangles are in the ratio 2

corresponding medians is

(A) 7:5 B 5:7

(C) 49:.25 (D) none of these
84. Hﬁ'ﬁ"ﬁﬁscﬁ @ =4cm b=5cm, I c=3cm, @ £B=?

(A 60" B 9"

© a5 o) A

In triangle ABC,a =4 cm, b=5cm, and c¢=3 cm, then ZB=7?
(A)  60° (B) 90°

(C) 4s° (D)  None of these

85. %ﬁmﬁiﬁ@%@ﬁ@wﬁ:ﬁm%@ﬁﬁiﬁwmi?
a1 | B 2

© | (D) T | g T

How many tangents can‘be drawn on one point of a circle from an external
point ? ‘

(A) 1 B) 2

(C) infinite | (D) none of these

86. hﬁp@moﬂﬁ:mﬁwaﬁmmhqﬁm_ﬁmww‘mcm‘a;r
WY @1 pr @t e

(A) 8cm (B) 10cm
(C) 12cm : D) 16cem
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PT is a

tangent dr; : .
frawn from a point P to the circle with centre O. If OT= 6 cm

and OP =
10 cm, then the length of tangent PTis

(A) 8 ¢cm
(B) 10 cm

C 12
(C) cm o) 6 em

87. TR IU H A Browmat F @ 3 wor 1300 & A 3| 2 GoAsH F I T H AT

Xt & v A
(A)  65° (B) 40°
4er 50° (D)  90°

If the angle between two radii of a circle is 130°, then the angle between the

tangents at the ends of these radii is
(A)  65° B) 40°

) 50° | D)  90°

88. ﬁm%{f@ﬁﬂ%ﬂmqﬁjl_i%w%?

(A] tan 600 . ’(B}/ cos 45°

(©) sin ;300 (D) cosec4d

1
wWhich of the following has value equal to 3 ?

B cos 45°
a)  tan60° (B)

o (D) cosec45®
(C) sin30

a
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89.  sin%90-tan?45°=

(A 1 B) O

© -1 o) 2

90. 3fgg-= 45“, dl tan? 0+ cosec20 & AF g

A 1 B) 2

© 3 D) @ B T

If 8 = 45°, then the value of tan? 6+ cosec20 is
(A) 1 (B) 2
(€ 3 (D) none of these

9]. sin 30° + cos 60° =

(A) J3 B 2
(B) Jv3
(C) 1 D 1
(D) 2

92. AR sec?O(1+sin6)(1-sind)=k T k T T gy

A) 0 B) 1
€ 2 D) 3

If sec?0(1+sin6)(1-sinB)=k then the value of k s

4 0 B) 1
€ 2 D) 3
(L-2)110A 60010-A Page 34 of 44

https://www.bsebstudy.com



“A0B=30", &t oy uy AB %} iard
(A)  nem

(B) 2% cm
(C) 1 cm

(D) 6 cm

The radiy
S of a circle j
€18 6 cm and centre Is at O. A sector AOB is such that

ZAOB = 30°
B = 30°, then length of minor arc AB is
(A) T cm
(B) 2ncm
(C) 1cm D) 6
cm

94, wﬂ%‘méﬂaﬂmwﬁmaﬁmmcms’r?

(A) 27 nem? (B) 72 n cm 2
2 .
(C) 22ncm (D) 39 ¥ F1T &

What is the area of a semi-circular field whose diameter is 24 cm 2

(A) 27 ncm? - B) 72 1% cm?
(C) 22rcm? (D)  none of these

95, aﬁ%ﬁﬂﬁﬁﬁmmﬁwﬁwﬁ%aﬁwﬂw@ﬁﬁw%ww
3aTd g
(A) 1:8 B 8:1
© 1:4 D) 4:1

Page 35 of 44
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i mes of origin:
If radius of g sphere is reduced to half then the ratio of volu g

sphere and new sphere is

(A)  1:8 (B) 8:1
(C) 1:4 : (D) 4:1

0 UV R Pt A F e 18 W2 ¥ ol 3wH fdE S, qF F Avw 5
%Wﬁgﬁ%,ﬁv@%ww%ﬁ%
@) e 2 B) 1272
(C) 18 2 D) 24T 2

The total surface area of a cone is 18 m? and its slant height is double th-
radius of its base, then area of base of cone is
(A)  6m?2 (B) 12m?2

(C) 18m? - (D) 24 m?2

97. UH HATY & dH AT Ferhl H1 EHE oy x*, y? W 22 ¥ & wry e

G|
A x?y?z? | (B)  x24y2, ,2
(C)  2xyz D) xyz

The areas of three adjacent faces of a cuboid are x2? ,2 2
Y7 and 24 respectivelt
Then the volume of the cuboid is

2 2 2
(A) X yz (B] I2+y2+22

€ 2xyz D) xyz
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98, 2! 7! 4!9 5 6
» 9, ,lﬁTmﬁm%
A) 6
Qs | (B) 4
| D) 39 7 51 55
Medlanofz,?,z;’gsﬁl. e
) y W), 18
A) 6
€y s o
(D) none of these
99. 5,4,9,8,7,4,2,6,4,?,3$raw%
(A) 7
B) s
€ 4 (D)
9
Mode 0{5,4, 9, 8,7,4,2,6,4,? 3is
(A) 7
) (B) S
C
C) 4 D) 9
. 100.

mm@ﬁﬂéﬂmﬁszﬁﬁ@n@ﬁwwmﬁmmaﬁ
IqH I T HY Wiy =11 @t 2

L 1
\/"{ i3 B) o

(C)

vES
S
)
.
3
3,

From a well-shuffled deck of 52 cards, one card is drawn at random. What is

the probability of getting a queen ?

l
4 (D) none of these
) 3g
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wug - @ / SECTION - B

F“l‘ﬁ“ﬁﬂm / Short Answer Type Questions
T R 1@ 307% Ay gty wer §1 g W A 1§mﬁ$mirmm¢
’%UQW & : 15 x2 =30

: : jons. Eu -
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 questio

. - 2 -
question carmes 2 marks. 15

1. f59m T3 &1 v & SR (2 +6x+5=0 H & (B |

Using quadratic formula find the solutions of the equation x?+6x+5=0.

2. O-Eﬁgﬁmmfiaﬁﬁl .
Convert 0-6 in the form of%.

3. fag #1 & 543 Us 3uicdy §&7 €1
Prove that 5+J§ i1s an irrational number,
4. AR A (ax®-6x-6) F AR FTAGS 4 ¥ A o B AT 319 3

If the product of the zeros of the polynomial (ax? -6x-6) is 4 find th I
. e valls

of a.
5. uﬁwm“zgw?ﬁfmm%ﬁ@mﬁéamﬁmfa@l

Find the set of solutions of the equation x + 2y=9j
N natural numpe
rs.
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10.

11.

p%h%%hmmm%wwwmﬁ# ?

4x+ py+8=0 U 2x+2y+2=0.

For what v
al . . .
ue of p following pair of linear equations has a unique solution 2

4x+py+8=0 and 2x+2y+2=0.

F—mmzxay:?ai‘f:m-@:uﬂﬁ@?}ﬁf&ﬁ:#ﬁﬁﬁf 2
Solve the system of cquations 2x+3y=7 and 6x-Sy=11 by cross
multiplication method.
qﬁmﬁ?&ﬁm%muﬁwu%sxw:oa‘:rﬁﬁmaﬁﬁl 2

Without finding roots find the nature of roots of the quadratic equation

4x? - 8x+3=0.

[ 3]

FHITR &7 3, 8, 13, 18, 23, ... &1 15 af G2 47 @ ?

What is the 15% term of the A.P. 3, 8, 13, 18, 23, ... ?

AABC 8, PQ | |BC, AP=8cm, AB= 12 cm, AQ = 3x cm 9T QC=(x+2)cm.
al x &1 71 A |

In AABC, PQ | | BC, AP=8cm, AB= 12 cm, AQ = 3x cm and QC = (x+2)cm,

2

then find the value of x.

(]

ufq m0=£'ﬁ1x5in0+ycoaﬁﬂmaﬁﬁl
Yy

If tan9=£- then find the value of x sin 0 + y cos 0.
Yy

Page 39 of 44
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O fere . 8in30°+tan45° - concc60°
. 8¢c30° + cos60° + cot 45°

sin30°+ tan45° — cosec6H(°

Evaluate : 8¢c30° +cos60° + cot 45°
13, W%ﬁmzzcmﬁ.ﬁmmwmmﬁl 2
The circumfc;’encc of a circle is 22 cm, then find the area of a quadrant.
14 A 00, 1), fagar P(5,-3)3R R(x 6)d U &, Al x F 7= 74
H 2
If point Q (0, 1) is equidistant from the points P( 5, -3 ) and R ( x, 6 ), then
find the value of x.
1s. BN ABC 1 s Be W DU fag 30 Wk ¥ ¥ % sapC = < BAC fag 55 =
ca? =CBxCD. 5
In AABC, D is a point on the side BC such that ZADC = ZBAC. Prove that
CA?=CBxCD. https://www.bsebstudy.com
16. UF @ fag A @ <t g9 & &= @ 10cm§ﬁw%.qawqmm}@aﬁm
ch?.a‘rqaaﬁfammﬁa 3
From an external point A which is at a distance of 10 cm from the centre of
circle, length of a tangent on the circle is 8 cm, then find the radius of the circle.
17. 3@ fag & Féwie s ¢ = fagait (4, - 3 ok (8.5) % I ot targe =
3:1 39 | safawifaa e & ,
Find the co-ordinates of the point whiph divides the line Segment joining the
points (4,-3 ) and (8, 5) in the ratio 3 : | internally.
(L-2)110A | 60010-A Page 40 of <4
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19,

21

22.

23

RERCTE C ot 14 cm R 7 30 AHETE H STFA 264 cm? F T T
RIPGERCIGEE 8

b

The hei wli ; '
cight of a cylinder is 14 c¢m and its curved surface area is 264 cm? Then
find the volume of cylinder.

am?{i&ﬁﬂﬂ?ﬁ 2x2+?x+5a?WB:f,Fﬂ a+B+ap F AA A %

If .
a and B are zeros of the quadratic polynomial 2x2 +7x+5, then find the value

of a+B+af.

8 % WUH 15 TS F ATES T Y | ?
Find the sum of first 15 multiples of 8.

T TR T 3 A, 2 T HR 4 T H § | a9 N UF S A A o

&, @ 39 &9 & BFS 74 & whrEa Fw ¥ )

1y

A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at

random from the box, what is the probability that it will be a white marble »
8 cm WA A1 g1 T4 F AR @ AS F AN T TG GROTR GHN @ @y
TS ATFEA FA H | 2

~wo cubes of edge 8 cm are joined end to end to form a cuboid. Find the total

surface area of the resulting cuboid.

b

Falt THiAT MoN @ fgeg T 13 UE digEl 9% 25 €, @ 17 & 0T 9@ *

The 20 term of an A.P.is 13 and its 5™ term is 25. Find its 17" term.

o

(L-2)110A | 60010-A
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24, Yfewrg favm ueiiftey & wam wo 196 317 38220 %1 HoHo AT | ’
Using Euclid’s division algorithm, find the HCF of 196 and 38220.

25, fag=tfe (1+tan®0) (1-sin0) (1+sin0)=1. ‘
Prove that (1+tan20) (1 - sing) (1+sin@)=1.

26. {ﬁqawuﬁmwwﬁsu%%ﬁﬁ(—l,s;_{z,1)&%(5,—1)@’3}%' <
Using the distance formula, show that the points (- 1,3),(2,1)and (5, - !
are collinear.

27.  Trefafes faaeo &1 amer 39 55 - 2

T IAH 0-10 10-20 20-30 30-40 | 40-50
IRERAT 7 10 15 8 10
Find the mean of the following distribution :
Class-interval 0-10 10-20 20-30 30-40 | 40-50
Frequency 7 10 15 8 10

28.  UH YT 40 U7 UIH &1 41 7@ T 5 6 W Fervroy \
Find the sum of first 40 positive integers which are divisible by 6.

29. yéﬁﬁﬂﬁ%fﬁq&ﬁ'ﬁP{1.4]r0[i31311®91—3.16]ﬁ‘113§_3 \_

For what value of y the points P( 1, 4 ), Q(3,y)and R(- 3, 16 ) are collinear
30. Fﬁ'@ﬁ% (secA+tanA) (1 -sinA)=cos A. 5

Show that (secA+tanA) (1-sinA)=cosA.
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i Iwitg v / Long Answer Type Questions

S
ma1ﬁaaﬁémﬁumiuﬁﬁﬁﬁ4mﬁ$wi:mm‘m

T 5 ot fratfe 3 4x5

_ x5 =20

Question Nos, 3]
. to 38 a "
re Long Answer Type questions. Answer any 4 questions. Each

question carries 5 marks,
4x5=20
31. @ weo e
-ﬁmfx+y=7ﬁ?ﬂ2x—3y=gaﬂ 9 37 84 &7{ | 5
Draw i i
the graph of pair of linear equations x + y=7and 2x- 3y = 9 and solve.

32. ﬂﬁ%{q’rﬁﬁ%maﬁvﬁﬁﬁgﬁsﬁmm,ﬂaﬁ 913"13113"7%15%3@"

11

w

@Tmﬁﬁsmﬁmm,maﬁgﬁwélwﬁaaﬁﬁ|

If 2 is added to both numerator and denominator of a fraction it becomes

9 . . .
— and if 3 is added to its numerator and denominator it becomes 2. Find the
g

11
fraction.

33. fag &t ¥ ol foreft Boge &t 0 o1 & Wi @& T @t s s 7
U & Fa o fefvra @t et ¥ .

- Prove that if a line is drawn parallel to one side of a triangle. the other two sides

are divided in the same ratio.

co 2
cosecA secA _ 2sec” A. >
cosecA -1 cosecA+] '

34, g f&H

cosecA cosecA 2
+ =2sec“ A,
Prove that cosecA -1 cosecA+1

Page 43 of 4+
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N

N

35. Umﬂnﬂﬂarﬁqm@gﬁtﬂqnﬁmwﬁmhﬁwmﬂmmaﬁﬁm

N

St - ‘ Sars 7 B
T T IFAW 60° A A 307§ A & Al AT B

: 30 m longer
The shadow of a tower standing on a level ground is found to be .

; ° Fi e heigh
when the sun’s angle of elevation is 30°, than when it was 60°. Find

of the tower.
36. Gcmﬁmﬁﬁﬁﬁﬁfmﬁﬁ'@lOcm?W%@@quwi“:
F AT FL |

A

Draw a circle of radius 6 cm. Construct a pair of tangents to this circle from =

point 10 cm away from its centre.
37. 39 TP H A T F 0% W (-4, -2), (-3,-5), (3. -2 ) ¥
(2,3) €l _ 5

Find the area of the quadrilateral whose vertices are (-4,-2),(-3,-5
(3,-2)and (2, 3).

38, UF 9 FH ot wiw 5o A @t 15 /e um a e F 30 fed oy o

The speed of a boat in still water is 15 km/hr. It goes 30 km downstream and

returns back upstream in a total time of 4 hours 30 minutes. Fing the speed o

the stream.
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